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Materials

All sizes:

3 skeins of Tweed Delight, color 04, A
2 skeins of Tweed Delight, color 12, B
1 skeins of Tweed Delight, color 09, C

Size 8 (5 mm) needle

Yarn quality

@ Tweed Delight, Hobbii

85% Superwash Treated Wool, 10% Acrylic, 5%
Viscose/

1.75 oz. (50 gram) = 109 yds (100 meter)

Gauge

15 sts and 22 rows on 4” (10 cm) stockinette st
20 sts and 26 rows on 4” (10 cm) in pattern,
measured slightly stretched

Buy the yarn here
http://shop.hobbii.com/cyclon-hat-&-scarf

Size
S (M, L, XL)

Measurements

Hat, circumference: 18.9” (19.7”, 20.5”,
21.3") or 48 (50, 52, 54) cm,

stretches in the width

Scarf, width: 8” or 20 cm,

length: approx. 63” or 160 cm

Pattern information

Knit the hat first, and divide the rest of
the hat-color to the beginning and the
end of the scarf.

The set is knitted in a nice rib-pattern.
The hat has decreases in the top and is
sewn together in the back.

The scarf is knitted in the same pattern,
but with broad stripes.

Happy knitting!
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Hat

Cast on 89 (93, 97, 101) sts in color A and knit back and forth in pattern:

1st row: *k2, p2*, repeat from * to * to 1 st left, k1.

Repeat this row until the work measures approx. 7” (7.5”, 7.9”, 8.3”) or 18 (19, 20, 21) cm.

Start decreases

1st row, right side: *k2tog, p2tog*, repeat from * to * to 1 st left, k1 =45 (47, 49, 51) sts.
2nd row, wrong side: knit what the sts show.

3rd row, right side: k1, *k2tog*, repeat from * to * around = 23 (24, 25, 26) sts.

4th row, wrong side: purl.

5th row, right side: *k2tog*, repeat from *to *to 1 (0, 1, 0) sts left, k 1 (0, 1, 0) sts = 12 (12,
13, 13) sts.

6th row, wrong side: purl.

Cut the yarn, pull end through the sts and weave in.

Sew the hat together.

Scarf

The same for all sizes.
Cast on 41 sts in color A and knit back and forth in pattern:

1st row: *k2, p2*, repeat from * to * to 1 st left, k1.

Repeat this row until the work measures approx. 8” or 20 cm (2 skein).
Switch to color B and knit approx. 16” or 40 cm pattern (1 skein).
Switch to color C and knit approx. 16” or 40 cm pattern (1 skein).
Switch to color B and knit approx. 16” or 40 cm pattern (1 skein).
Switch to color A and knit approx. 8” or 20 cm pattern (72 skein).

Cast off in pattern.
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